Name

ID: 1

Assignment Date

Period

Simplify. Your answer should contain only positive exponents.

1 (ba?)™ - 2a* 2 - Xy - xy
_2a3p™3 (—X4y2)2
41,3 4 -1\2
(—2a4b_3 -—ab‘z)3 2%y - —2y?
5) (2x?y*) 6) m’ -2mn3)
2xy_3 -2yx_4 —2n*
3 3\~ 3 -1
—-m” - 2mn Xy
-n X - 2Xy
9) (_ﬂ)_4 10) (_X4y4 : _X0y0)73
2x°y? - x -y
1) (2uv*)’ - w? 12) (2x*y?)®
2V —2x%y? - (~2x7")
0\2 |2 Iy 2y? 0
15 ) 14)( — )
v -2uv’ -2y - =X
32 3 b 4
15) (2 16) (———
—2Xy -2b -b
01,3 0 _3\3
17) 22020 19 )
0\2 3,3
(—2a ) XXy
\4 -1, -1 2
19 (b™!) 20 XYY
ab!.—2a b (—x3y2)2
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(-m?)’ (><3y‘2 : 23/2)_3
21) ———— 22) |—
) —m° . —2m’ : Xy’
2\4 ~ 3\3 2 0.3
23) (Zy) ( 2 ) 24) m4n 5\3
oy (2m*n®)*(m??)
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ba’
5) 2y"x°

24

9 X~

13)
17) b?

m
21) ——
) 2

4viu?

Answers to Assignment (ID:

1
2) ———
)y
16

m

10)
14) 1

18) -5~

12

22) —
)8

LT wsgsgs ath-vsorlsheel ory

T 12,13

b18
43!
1

3)

7)
11) 4u''v!

1
15) —
y6
a‘b

19) ——
) 2

64y'?
X9

23)

8n15m12

1)

12) 4xy*

16) 16

20) 5

24
) 8m?
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Assignment

Name

ID: 2

Date

Period

Simplify. Your answer should contain only positive exponents.

2u™?
Do
(2uv . —u)
2u%°
3)

LN TRV

(-a'0)”
_a73b2 . _a71b72 . b73

9)

11)

2a2.2a%". (Za“b"‘)3

(ab)’

1. -4 3
13) ( 2.3 -4 4)
X7y - =2Xy

2 4 -3
15) 2X 2yx2 2y
-2Xy

(cuv )™ 2unv?

uv

17)

3.4

19) —

(F2xty") (xty )’

LT wsgsgs ath-vsorlsheel ory

4
2) 2Xy

—yx” - (xty )y

by ) - -2y’
2.,-1

2X7y

10)

12) -

n®. —mn\™
14)
om™

(2X3 yO ) X2y4)3
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-2,.3)! 4)*
21) (—2a b ) 22) 3(‘(1)) -
(-2ab? - —a’p’) uvs-v
3 B2 Hadp0
23) X yX : 28) - 2ab 2(: b
(-2y™) (-ba’)
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Answers to Assignment (ID: 2)

5 9 3 4 3,,3 4
1) N 2) 2x” ) 4u'v p X
2 8
u y y
5) 1 y'® 7) 2x° 8y*
% % D
9) —-a’b’ y? 32a'? m°®
x> 2 1 16) —8x'y'?
13) — 14) — 15) ——
) gy?? ) m*n ) 64x "3
2v' 2 1 1
17) - 18) — 19) ——— 20) ———
) ulS ) y5 ) 16X29 ) y32x24
21) _al 22) viu®? 2) yix* 24) —4b*a
2b*
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ID: 3
Name

Assignment Date Period

Simplify. Your answer should contain only positive exponents.

0 2x°y 7 L 2yx? ? 2) —m*n~. (—2m4n2)3
Xy —2mn*
(~2p°)’ 2 om?omn?)’
a’b™. —2p™! —2nm°
gy [~y 2 - XV
X3 y2 ) 2X3y0 (—Xyz)_S ) —2X4y2

. (M) SR

2y -y - —axty’
_a’p? . _p? 3 _3\4 3
9) (%) 10) ( L) 2)
b (v —2uv™)
-1,.-4)3 3.0 -3
" ~a’-(a'p) 1) V2T
2a’ (~utv)
Y A | 14y - XY
—2x°y4 R yfz (X4)—1 3 y4 x4
—4\3 -2..0
15) (2x7) 16) ——
_2X4y_2 . _)(_2 y_1 (—m2n3) . —nm2
-4 3\ 3\2 3.3
17) y gxz) 18) (—2mn) -m n2
Xy m~*n~" . (~2nm?)
313 2\2
2
19) (—%) 20) —O( = ) -
2X°y - =2yX
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—4 2mn -2
21) 2 22) |- 2 3 14
m n

X'y 3, (_2X4y_3)0 masn°.=2
4 3.4 3 - -1\3
23) XY -—2i<4y 2) (_ 2utv? Uy 43- —u’v 1)
(xy?) ()
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Answers to Assignment (I1D: 3)

16x'2 4m"
1) 2) —
12
y n
X4 7
5) —— 6) -
4y 2X
9) a2 v
64u
13) -y’
14) - ——
X7y
2 1
17) — 18
) y'ox° ) 16n*m
2y? 1
21) -1 22) —
X m

LT wsgsgs ath-vsorlsheel ory

3) 4a’b’

1
8y
11) -

7) -

45

1

3
15) —+
)

19) —y*?

23) —2x%y*

2a°b"

4) 8m°n’

8
)2yx

12) 4u®

16) m*n®

20) ——

24) ————
)V186

5,4
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Name

ID: 4

Assignment Date

Period

Simplify. Your answer should contain only positive exponents.

—4 -3
) (2x*y?) 2 [

2x4y4 . —2x3y_l —2%7 - 2%°

3 _ 0

3) (-u?) » - 2b~°

uvt . 2v? 20t 2ab*-a”b’
5) a’h” . —2a’\” 6) - 2x %y

a~b? 2y ()’

7) 8)
2m’n* - 2m™*n™* —-2m'n”!
9) (—yx°)1(4—2j<2y_2)4 10) 2X(3y32 X3)3y1
X'y 2X 7y
0,3 4 4 3\l
11) (_ 42)<() . 2 3) 12) (_2)2( );) 2
2X'y - Xy —2X" - 2yX
13) Cow’ow’ 1) (2n 3 —nm‘3)_4
(2utv™) m°n°
(2b-2ap7)? 15 =2y)
18) ) o
-3 0 0
17) HE 18) -
(~vu? - 2u7VY) (-y?)
. (ab™)* ’ 20) 2%y (2y°)’
L P (2x'y?)?
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2yx’ - =2xty (-2m* - 2m™n?)’
23 nm~™*.2m~n* 2) (~x°y?)’
(om0’ Xy =y
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Answers to Assignment (ID: 4)

1 64x'®
1) ————— 2) _
) 6;(|)'X23y15 ) 5y6
5) L 6) 2y
16a** x4
16x* 2
9 —5 10) ——
yB 12 Xzy412
\Y n'm
13) - 14
) 2ull ) 16
16v'° 18) y°
17) %
12
y 1
—— 22) - ——
) 16x%° ) 64m’n?

LT wsgsgs ath-vsorlsheel ory

8
u
3) . —
) 4y
5
m
7) ———
)=

1
11) —-
) x24

l6a
15) 1o

4) 1
8) —2m'n's

1
8xy*
1
2y
20) 32x%y?

12)

16)

4

y
24) —
)X6
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Assignment

Name

ID: 5

Date Period

Simplify. Your answer should contain only positive exponents.

3 -1
y
1) (_232 3)
Xy .=y

n-—nm°\’
2mn

o) 4 . 3
13) -2
(2xy?
2m’n’
15) - -
(~2m°n* . —2n7?)
2 4 _2 2.4
17y XX Y

-1 -1,,2

2x2y -X Yy

2)
(x*y?)!

10) a
(a'b™)

12) - Xy’

(—2x3y4 : —x3)_2

3 2

14) (_32”2‘ )

—mn —N
16) ()

3y oy oy

4 2 -1
18) . m -=2m rl
(2m2n?)
-2..0
20) — 2u3 v
(~2v?)" -~
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3.0 -3 -2
21) _w 22) ( (_2y4)43)

(2uv)” yx* - —2X

—4, -3\0 3

23) (—2& b ) 24) 3X
—ab - —ab™ (x"y?) - 2xy?
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1) 2x%y?
10,4

32

5)

9
) 02y 2

13) ——
17) 4y'*x®

16v°
21) ——

2)
6)
10)
14)
18)

22)

Answers to Assignment (ID:

2X17
7

y

1
2u?
4p*
at
4m’
n3

mlO

2n°
34,10

Yy 'X
64

b
</ gsgsgs ath-wsrisheel.crg

n15

8m12

7) 16x'y°

3)

11) —b°
15) —8n*m?
4 7
19) -

X

b3
23) —
) 2

5)

4) _4X12y5
8) —4x*

12) —4xy!?

1
16) ———
) 2x8

1
20)

6
24) ——
2y

4USV10
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Assignment

Name

ID: 6

Date

Period

Simplify. Your answer should contain only positive exponents.

2.3 -2
1) 2X7y -2y_2
(~2x'y™)
(xty)*

3) 5
-2y - -2X

, 2a%p7 - —2p%\’
) —a*p?

(c2x2y") (x2y )’

4)
6) Entmt)”
(-2mn%)°
8) Xy’
(y?) -y
10) 2%y
(cyx® - 2x?y7)
-3\-3
12) (—2v )
—uv !
2x7 - (x3y?)
14) Sy
yX
6 (a1b4 a2b3)3
(-22°)°
9 x‘y? - axty?
(c2x2y7)?
y
20) —2nm? - —2m°n®.n7*
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21 22) —
) —xty? (-2m?)
-4 2\2 2
23) (2_23 y)3 4 24) ly_x 4yt
X7y X"y (F2xy )™ 2xty
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Answers to Assignment (I1D: 6)

y7 b9 4y5 y5
5) 16m°n'? 6) m?® . Y 8) 1
16n* 4x° yox?
9) _x8y!12 NN U2 vou?
) Xy 100 2 11) - ¢ 12) -
13) 8y y? 64x'2 b?!
14) —- 15) - 16) ———
3 e e ' a
17) —2a Xy y 4
18 19) —- 20) ————
) 2 ) 8x* ) n’m?
21) x'Sy? n2 O gy 10
22) Z 23) -7 24) Z
4m 4y y
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ID: 7
Name

Assignment Date Period

Simplify. Your answer should contain only positive exponents.

2

) viiove—2u” 2 (_ 2uv™ )1
( )

(2u)™ —u2?)’ u )’

3 x4y3 ) (—2X_3 y—4)2 5 - x4 —X74y72
Xy’ (y?)
5 (-2a*p?)” 6) (2y)4-—2);‘3
—b° . —ab (—2xy™)
7 —y . (2x2y3)3 8) 2m_2_n2
—2x72y? (2m*n®)~ . 2n?
2a’b? (xy™)” - —x*
2xy~ (~2nm®)* - —2n™"
11) —
) (2x)° - x°y? 2 —nm™*
13) ~2yx* - (c2xy )’ 14) (v - ey ™))
—ox~! —2yx4
3.4 4 3
15) "2 19 o
(—2x*y?) 2V 22U’y
17) 2x3y2 -=2x° 18) - 2y_2 . (—2xy)4
(-y?)’ (2y?)
3 2.2 4
19) - yXx - 2X 3:) 20) - 2ba 0
(—2x2y’1) (2a2b*3 -2b72)
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oyt () 20 2v

21 22)
) 2y~ (~2uv)’
-3 3 -1)-3
23) ( 3)20” — 24) 20 '(_22; )
X7) -=2x'y —a
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17)

3,,10

21) —4y*x’

Answers to Assignment (ID:

2V13
2) - u13
8y’
6 7
) )
2X11
10) - ==
v
14) 2y33
8x*
18) -~
ulOVll
22) —
2

LT wsgsgs ath-vsorlsheel ory

4
X5y8
7) 4xdy®

3)

1
4y4x5
1

11) -
15)

19) —2y°x

X
23) ——
y6

16y15X13

7)

8) 8m’

12) 8m*

16) ———
) 4u°

20) —2ba’

24) —
)8a

math-worksheet.org



Assignment

ID: 8

Simplify. Your answer should contain only positive exponents.

—2x0y° ] (2x4y2)2 oy yz

(2x4y_2 _x2 y4)*3

9
X2y2

1 4.3
1) Y X3y

(xy’)

-3

13) — L

_Xzyz) oy

y2(2xty?)”
2Xy

2%y - =X y?

(~y)!

24 gegsvs patih-veerlsheet.ory

Name
Date Period
2 (-2yx?)’
_X_2 . y_l
2 (_ 2mn* )3
(-n*)’(cmn?)°
6) 2xy3 -—2x_4y‘3
(-2xy )™
BT
(2yx?)’
yX
10) (—2v_3)3 2utv?
u-—2vu’
12) 2a'b*-ab™
(2a°0%) *(2a°0 )"
14) _ab”
(6°)7 - 2a%0°
16) - mn~ - 2nm™>
oy

2.2 3\4
w (£222)
(x*)

(2x2y?)’

20)X44 4 4
y - Xy

math-worksheet.org



21 (2x7'y")’
2x7y? 2yt
23) - 2y

(~2xy - 2x?y™")’

LT wsgsgs ath-vsorlsheel ory

22) 3
(~2xy™?)

(vu*)*u

20y’

24)

Xy -y

math-worksheet.org



Answers to Assignment (I1D: 8)

2) 8X11y4

64x°
8

y

8 3
10) -
\

6)

a

2b°
16y*
W

14)

18)

5
22y - X
8

LT wsgsgs ath-vsorlsheel ory

3) 4y'*x?
2
7) _UIOVS
4
X
11) - =
15
) 32n8
19) —2y’x*
y
23) ———
) 128x!?
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ID: 9
Name

Assignment Date Period

Simplify. Your answer should contain only positive exponents.

1) - 2a 2) 2u
(-2a%b™)*(a%b )" ()" o2
S N g XXy
(—2X0y3)4 ) 2X_2y 3 X—1y—4
.2 4 ud —4
5) y yXﬁ2 5) (xy)
2x4y3) 03 x2y3
0 33 2
7 - ba” - —a’b ) (-n)
(ap?)™ -2m~ . —m’n”*
. —m3n 5\0
e n( 3m3)‘r'] 10) 3(21) 3
m’n Xy X
4 2..-3
11) . 3xy443 12)_2x 2x3(/)
X2y - (xy?) (~yx?)
o [l oy’ )
(—2u?v?)’ —2yX" - =2yX
—4.0\0 0.3 2
15)(— V') uly 16) — 3’:2 :
(2u°) (2x°y*)" - xy
) (2a‘1b4)0 18) - X 2y3 —xy2 0
—a*b™ - —2ba’ (2xy ) (2xy ™))
g 22 20) m”
(2a*0%)" . —ap mn*. (=2mn)* . —nm*

24 gegsvs patih-veerlsheet.ory th-worksheet
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y 22)
21
) —x'y?ax7ty? (-2x?y?)
2) (2n°)° 20) (y)  xy™*
2m°n? . —nm? Xy’

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (I1D: 9)

b2 2u
2 ~2al’ 2) el
5) 8x'2y® ) 1
22X9y19
9) 2 y
10) 7%
1 1
T 9 axy
4.2 5
17) 22 18) >
2 X
y 1
21) —— 22) —
) 8x ) 4y'2x®

LT wsgsgs ath-vsorlsheel ory

3) !

7) a’b*

¥

11)

>

1
3
Vv

15) —
) 8
19) 2b®a’

1

23
) 2n°m

3

N 32x'°y9

math-worksheet.org



Assignment

Name

ID: 10

Date Period

Simplify. Your answer should contain only positive exponents.

1)( (2xy?)’ )3

22yt —xty

(2xy")" xly?

19) 3
-2Xy

LT wsgsgs ath-vsorlsheel ory

S
(~y? - —xy?)

g - xty
(x*y) " xy?
6) (2xy? - yx?)
utv
8) - 3,,0 4\-3
(2u V-2V )
10) 2Xy - —Xy*
(x2y")"
y
0)3
12 (xy )2
-x(2y)
3
14) ((><3y1 ~yx3)2)
(25"
16) 'y’
(xy?) eyt
3,,-1Y73 3
_ )
e
20) _2v-2v3

()
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X' (2x*y?) (-2%)°

21) 22
(—2X3 y—3)—1 o2 y3 ) Xoyo ' y—4
Y (cu?)” 2) ba?--2a”p’
) —2u®-2v! (—aobz)_l
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1) _8y21X6

4ul3v6
9) al3bl7
n

13
) 16m°®

17) -

21) X

Answers to Assignment (ID: 10)

2) y4OX6
6
X
6 -
) 8y
10) —2y?

14) 4096x**

2 7
18) - -
X

22) 4y®x®

LT wsgsgs ath-vsorlsheel ory

4) _yl3XlO

8) —64u'v®

12) —
) 1y

16
) MENE

20) —4u

<

N

V4

5
2y -2
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